30

25

20

15

10

2
i
(o))
o™
[e0]
AN
<
(]
oo

= 1
(a
e
2
pr)
@
o

0.5

7000 GeV pp Top (parton level)
T~ - r - r T T T T 1 1 T ]
_— Ay (ttbar) (pTtt > 50) ]
- - 8- Pythia 6.428 391 5
| - %- Pythia 6.428 393 .
— .- Pythia 6.428 394 —
- ¥ Pythia6.428 395 7]
N &*M@}% __
B 2 L |
L LA » —
I # El}] E\EEEH}J \Q )
N L - _
: -:"ﬁﬂl tﬂh;\ :
B # % j
-~ o i =
- z o i
B 1!ﬁ[ﬂ (I\/IC_FBAl_TTBAR) E-E[g 7
E e T R pmr=
T it 4
HE AR 241 ke 0
r{hl: * #!h"t 'ggtg’ Y:i L
R AT THt0entnnsansnrtet?t i =
BEX =
- =
-
I 7

IE ' : | |
-5 0 5

Rivet 3.1.10, = 1.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


